AR D FRR)

FAE(

h

£
KE

“ETHE

=Lkl

TP

(AEEd

.

wOBR

®

=

<.

b
N

£

>/

¢

VN N\ TS

kY

i

U

X(S=1:25,000)

ﬁg

i

Y
@
I | &
HE | H
i u[En
IE| o < H
NEIMLYES
B o= K
g (|7 K [ H
\h [i=]
: %HM
|5
o
1
3
R (Ole o 1 (K
iz
S | #
& !
® e K
1 [$ (¥ |iES |

& ®(S=1:200,000)

-
~
/.




RIEMMOREERRXERE
BRX3—1 BEOSINOHILH. ELLAEOSTNOHLIHOBREH _ _ BEEE AT
2t E M DM B BERES 17481043 | EEi# | L | R | I ARAER

R
A T
CJzurzosznohd tiboxs
BENSENOHD L ORI
[ trzosmsmsmER 256 H
T EE0OBREHD HM0KN/ MEBAZEE

— HEMRIR

B
H
f
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HX3—2 BEWICHRTHLEESNSHRICET SFE1/1) _ _ REEE | PH26E
SERMOMNE | BAES 17451043 | E T4 \ TS | PFRTEHh | A AR AR
) SMERH O TinICHET 511 SfERHA
ﬁ%ﬂg TEREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOESILADKRES TREDHBESILNDKRES
; 100kN/M%#825 | 1.00 | 000 ~ 235 136.74 |3mx#EZH| — ~ — — — | 100kN/mMi%E#BZ5 | 1.00 | 1080 ~ 2015\ 136.74 |3mEHEZS -~ — — —
znLst 1.00 | 235 ~ 1014 100.00 | #nS | 0.00 ~ 1014| 2.86 15.30 ZznLst 1.00 | 5.00 ~ 10.80 100.00 | #nS | .00 ~ 2015| 2.86 15.30
2 100kN/M%#82% | 1.00 | 000 ~ 215 133.29 |3mx#EZH| — ~ — — — | 100kN/mMi%E#BZ5 | 1.00 | 1088 ~ 21.37| 133.29 |3mEHEZS -~ — — —
znLs 1.00 1 215 ~ 993 100.00 | =nllst | 000 ~ 993 2.56 13.69 ZznLst 1.00 | 5.00 ~ 10.88 100.00 | #nS | .00 ~ 21.37| 2.66 13.69
3 100kN/m#%i#BZ2%| 1.00 | 000 ~ 212| 13289 |3mZEBZE| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.39 ~ 2455 13289 |3mEiEZ5 -~ — — —
Zhn s 1.00 | 212 ~ 991 100.00 | #nust | 0.00 ~ 991|249 13.51 ZhnLs 1.00 | 500 ~ 11.39| 100.00 | FnLsS | 5,00 ~ 2455| 2.49 13.31
4 100kN/m#%i#B2% | 1.00 | 000 ~ 267| 14197 |3mZEBZB| — ~ — — — | 100kN/m%E#BZ% | 1.00 | 1082 ~ 27.04| 141.97 |3mEREZS -~ — — —
Zh s 1.00 | 267 ~ 1045 100.00 | #nS | 0.00 ~ 1045| 2.90 15.49 ZznLst 1.00 | 5.00 ~ 10.82 100.00 | =N | 65,00 ~ 27.04| 2.90 15.49
5 100kN/m#%i#8% 5| 1.00 | 0.00 ~ 261 141.00 |3mZE#BZH| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1095 ~ 2788 141.00 |3mZE#BZ% -~ — — —
Zhn s 1.00 | 261 ~ 1059 100.00 | TnLSY | 000 ~ 1039 2.87 15.34 ZznLst 1.00 | 6.00 ~ 1095 100.00| Fns | 65,00 ~ 27.88| 2.87 15.34
g 100kN/m#%i#B2%| 1.00 | 000 ~ 1.83| 120.09 |3mZEBZ%| — ~ — — — | 100kN/m%ZE#BZ25 | 1.00 | 1058 ~ 1504 120.09 |3mZEBZ3 -~ — — —
Zhn s 100|138 ~ 911 100.00 | #nst | 000 ~ 911|232 12.42 zhLst 1.00 | 5.00 ~ 1058 100.00| FnLs | 500 ~ 1504| 2.32 12.42
- 100kN/m#%i#BZ2%| 1.00 | 000 ~ 065 109.65 |3mEBZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1219 ~ 1504 109.65 |3mZEBZ3 -~ — — —
zhLs 1.001 065 ~ 843 100.00 | Ths | 000 ~ 843|212 11.56 LS 1.00 | 500 ~ 1219| 100.00 | FhLs | 500 ~ 1504|2.12 11.56
g 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %5 — - ~ — —|3m%EiEZ S -~ — — —
zhLs 1.00 | 000 ~ 762 97.62 | Fhst | 000 ~ 762|212 11.34 zhLs 1.00 | 500 ~ 1020 97.62 | #nLSY | 5,00 ~ 1020|212 11.34
9 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZS -~ — — —
Zh st 1.00 | 0.00 ~ 573 71.64 | #hUS | 000 ~ 673|210 11.23 Zh st 1.00 1500 ~ 810 71.64 | TS | 500 ~ 810|210 11.23
10 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZ S -~ — — —
Zh st 1.00 | 0.00 ~ 637 80.14 | ThLs | 000 ~ 637|1.98 10.62 Zh st 1.00 1500 ~ 840 80.14 | TSt | 500 ~ 840 1.98 10.62
17 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZS -~ — — —
ZNLs 1.00 | 0.00 ~ 751 96.04 | ThLs | 000 ~ 751|283 12.44 zh st 1.00 | 500 ~ 10.20 96.04 | TSt | 5,00 ~ 1020|235 12.44
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
NS ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZnLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZNLs ~ ThLLst ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ TS ~ Zh s ~




